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Part A: Multiple Choice Questions (MCQs)

1. Which of the following is not a form of non-verbal communication?
a) Facial expression
b) Email
c) Posture
d) Eye contact

2. What is the main goal of communication?
a) To impress others
b) To express emotions
c) To exchange information and ideas
d) To speak fluently

3. Active listening involves:
a) Interrupting the speaker to share your views
b) Thinking about your reply while the other person talks
c) Paying full attention and responding appropriately
d) Avoiding eye contact with the speaker

4. Which of the following is a barrier to effective communication?
a) Feedback
b) Clear language
c) Noise
d) Eye contact

5. In communication, feedback is:
a) Ignoring the message
b) The response from the receiver
c) A type of noise
d) A type of report

6. Which of the following is not a principle of effective communication?
a) Clarity
b) Ambiguity
c) Conciseness
d) Courtesy



7. Paralanguage refers to:
a) The use of signs and symbols
b) The way something is said, like tone, pitch, and speed
c) Writing in multiple languages
d) Body posture during speaking

8. Formal communication typically flows through:
a) Social media
b) Official channels within an organization
c) Random gossip
d) Personal WhatsApp groups

9. A communication cycle begins with:
a) Feedback
b) Channel
c) Receiver
d) Sender

10. In group discussions, effective communication helps to:
a) Dominate the conversation
b) Listen passively
c) Reach common understanding
d) Avoid taking turns

Part B: Assertion and Reasoning Questions

Choose the correct answer from the following:

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.
c) Ais true, but R is false.

d) A is false, but R is true.

1. Assertion (A): Communication is a two-way process.
Reason (R): It only requires the sender to convey the message.

2. Assertion (A): Listening is as important as speaking in communication.
Reason (R): Without listening, the receiver cannot interpret the message correctly.

3. Assertion (A): Non-verbal communication includes written communication.
Reason (R): Non-verbal communication is expressed through body language and gestures.

4. Assertion (A): Encoding is the process of interpreting a message.
Reason (R): The sender converts the idea into a message during encoding.

5. Assertion (A): Feedback completes the communication process.
Reason (R): It helps the sender know if the message was received and understood.

6. Assertion (A): Use of technical jargon always improves communication.
Reason (R): Jargon makes messages easier for everyone to understand.



